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QUESTION 1

Which of the following about the control plane in Carrier Supporting Carrier (CSC) VPRN is FALSE?
A. End-customer routes are populated in the network provider CSC VRF.

B. The customer carrier does not learn any network provider internal routes.

C. The network provider learns customer carrier PE system addresses.

D. Routes exchanged between the customer carrier and the network provider are labeled.

Correct Answer: A

QUESTION 2

Click the exhibit.

APE1

s 1113

*A:PE-18 conficure service vprn 20 customer 101 create
*A:PE-lr*configrservice>pms description "VPEN Blue'
*APE-l>configrservice>ypmf route—distinquisher 65100: 101
*A:DE-lrconfigrservice>yprnd wr f-target target:-65100:101
*A:PE-l*configservicepms auto-bind ldp
*A:PE-l>contigrservice>vprmf rowcer—-id 1.1.1.1
*A:PE-lrconfigrservicesypms inter face to—CE-1 create
*A:PE-l*configrservice*pmsiff address 10.1.6.1/27
*A:PE-l*configrservice>wprn>ifi sap L/1/2 creace
*4:PE-lrconfigrservicesyprn=ifi exit

*A: PE-l*config-sarvice>mpmms

What is wrong with the VPRN configuration applied on this Alcatel-Lucent 7750 SR?
A. The VPRN ID must match the value used in the vrf-target command.

B. The VPRN ID must match the value used in the route-distinguisher command.

C. The router-id command should not be used in this context.

D. The "no shutdown" command must be configured for the VPRN to be operationally UP.
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Correct Answer: D

QUESTION 3

In a Carrier Supporting Carrier (CSC) VPRN, which of the following is a benefit to the customer carrier?
A. The ability to offer Internet connectivity and a variety of services over a single CSC VPRN interface.
B. The ability to maintain its own backbone.

C. The ability to learn system addresses of network provider PEs.

D. There is no need to manage end-customer services.

Correct Answer: A

QUESTION 4

Click the exhibit.

10.1.1.0/24 il 10.1.2.0024

PE-1# configure router bgp

PE-1seanfigerontarshant family wpa—iped
FE-l»configrrouter>bgps group BGP-Peers
FE-1»configsrouter>bgpygroups peer—as 65100
PE-1>configrrouter>bgp>group$ local-address 1.1.1.1
PE-1>configrroutersbgp>groupd neighbor 1.1.1.5
PE-laconfigrrouter>bgprgrouprneighbor$ as-override
FE-1>configrrouter>bgpdgrouprneighborf exit all
PE-14

The AS-override method is used to prevent BGP loops in the blue customer VPRN. Which statement about the
configuration is TRUE?

A. the configuration is complete and correct.

B. \\'as-override\\' should be configured under the BGP context.
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C. \Vas-override\\' should be configured under the group context.
D. Was-override\\' should not be part of this configuration.

Correct Answer: D

QUESTION 5

Click the exhibit.

AS 65100

community “Hub Site” members “target:65100:1%
comuunicy "Spoke Sites” members “target:65100:2¢

Community lists are configured for the PE hub and spoke VPRN. Which communities should be exported by the VPRN
service on PE1?

A. "Spoke.Sites" and "Hub_Site"

B. "Spoke_Sites"

C. "Hub_Site"

D. No communities should be exported

Correct Answer: C
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